Chapter 10 – Contract Terms and Employment Outcomes
True/False
[QUESTION]

1. Generally, work rule changes are often initiated by unions in order to increase the flexible deployment of their members.

Ans: False
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2. Sumner Slichter argued that the high costs of unionization forced employers to go out of business.
Ans: False
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[QUESTION]

3. Most of the research that is centered on union wage differentials focus on the absolute union wage effect.
Ans: False
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[QUESTION]

4. Research has consistently shown that union workers, on average, earn 15 to 20 percent more than non union workers.
Ans: True
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[QUESTION]

5. Escape and takeover options have become increasingly appealing to employers as methods of evaluating whether or not to attempt to work within a bargaining relationship or not.
Ans: True
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[QUESTION]

6. Unions often promote wide intra-industry wage differentials because they only organize blue collar workers.
Ans: False
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[QUESTION]

7. During the early 1980's, many unions asked and received pay increases from their employers.

Ans: False
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[QUESTION]

8. “Job control” unionism, a characteristic of labor relations in the United States, includes the fact that specific worker characteristics, such as employee age, directly influence worker wages.
Ans: False
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[QUESTION]

9. In general, unionized workers received a greater variety of fringe benefits and a higher level of benefits than non union workers.
Ans: True
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10. In the famous Inland Steel case, the NLRB ruled that pension and retirement issues belonged under the permissible list of subjects for bargaining.
Ans: False
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[QUESTION]

11. In a research study by Freeman and Medoff, union membership was found to be associated with higher quit rates.
Ans: False
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[QUESTION]

12. A study done by Brown and Medoff found that collective bargaining was associated with a 20 to 25 percent higher rate of productivity in the manufacturing sector.
Ans: True
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[QUESTION]

13. In general, unions are not able to affect company work rules since these matters are not mandatory subjects for bargaining.
Ans: False
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[QUESTION]

14. A study recently compiled by the Bureau of National Affairs found that most contracts that mentioned seniority used it as their sole criterion in governing promotions.
Ans: False
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[QUESTION]

15. One reason why unions have demanded job and income security is because management often tried to substitute technology for its union workers.
Ans: True
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[QUESTION]

16. Historically, unions have fought for income security rather than employment security.

Ans: True
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[QUESTION]

17. Unions often negotiate work-sharing provisions in their collective bargaining contracts because these stipulations prevent layoffs and increase unemployment benefits in most states.
Ans: False
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[QUESTION]

18. Federal law requires that firms must provide advance notice to their employees if a permanent layoff occurs.
Ans: True
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[QUESTION]

19. Supplemental unemployment benefit plans provide constant jobs for those who are laid off.
Ans: False
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[QUESTION]

20. The unemployment rate declined to 5% in 1997, allowing for wages and inflation to once again begin to rise.
Ans: False
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[QUESTION]

21. The major issue in the 1997 negotiations between the teamsters and UPS was outsourcing of work to non-union workers.
Ans: False
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[QUESTION]

22. In general, employers have been unable to negotiate management rights clauses into their collective bargaining contracts.
Ans: False
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[QUESTION]

23. The residual rights doctrine states that, while management may have a property right to run its own business, the management of human resources requires the consent of the managed.
Ans: False
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[QUESTION]

24. Unions can rarely affect the safety and health conditions at the workplace since such topics belong under the control of management.
Ans: False 
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Multiple Choice
[QUESTION]

25. During the 1980's, employers responded to increased labor costs and environmental pressure by

A. increasing the number of work rules.

B. lessening productivity bargaining.

C. increasing the number of job classifications.

D. asking for work rule concessions.
Ans: D
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 [QUESTION]

26. Which of the following are typical responses by firms to increased labor costs?
A. reduction in output and employment.
B. increase in the price of the product.
C. substitution of capital for labor.
D. all of the above.
Ans: D
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[QUESTION]

27. Secondary effects that unions sometimes exert include
A. asking for higher wages.
B. seeking more elaborate job security language.
C. obtaining stricter seniority rules.
D. b and c.
Ans: D
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[QUESTION]

28. The relative union wage effect compares 
A. wage differences across similar union occupations.
B. wage differences across different union occupations.
C. wage differences across union and non-union workers.
D. wage differences across non union workers.
E. a and b.
Ans: C
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[QUESTION]

29. Which of the following is true of union wage effects?
A. there is a greater positive union effect on the wages of blacks than whites.
B. unions reduce the effects of age and education on earnings.
C. unions have larger effects in some occupations than others.
D. unions produce smaller relative wage effects in less concentrated industries.
E. a, b, and c.
Ans: E
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[QUESTION]

30. A number of research studies have shown that unions have increased the productivity of firms. What are some of the problems with these studies?
A. These studies fail to take into account that unionization causes wages to be lower in some industries.
B. They are often biased because unions have sponsored the studies and, thus, allow research to be tainted with favoritism towards unions.
C. These studies don't take into account those firms that have already gone bankrupt because of unionization.
D. There are no problems. These studies have been taken from a variety of firms across industries and control variables have already been accounted for.
Ans: C
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[QUESTION]

31. Regression is widely used to measure the wage effects of unions. What are some of the technical problems associated with this analysis?
A. While it is easy to determine the "supply" effect of union wages, it is hard to determine the relative "threat" effect.
B. Unions may tend to organize high wage industries or workers.
C. Control variables, such as human capital and worker race and gender characteristics, have never been accounted for.

D. All of the above.
Ans: B
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[QUESTION]

32. How much of the trends in the declining number of unions in the 1980s and 1990s has been attributed to declining union power and coverage?
A. 20%.
B. 40%.
C. 60%.
D. 80%.
E. none of the above.
Ans: A
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[QUESTION]

33. Historically, collective bargaining introduced various procedures affecting the administration of wage systems including which of the following?
A. Deferred wage increases.
B. Cost of living adjustments.
C. Red circle rates.
D. Wage reopener provisions.
E. All of the above.
Ans: E
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[QUESTION]

34. Why have unions historically pushed hard for fringe benefit increases?
A. Unions tend to have a higher number of older workers who place a high priority on pensions and life insurance benefits.
B. Older workers tend to carry more political influence in unions.
C. Fringe benefits receive tax advantages.
D. Firms find that fringe benefits have no costs since the government pays for them.
E. a, b, and c.
Ans: E
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[QUESTION]

35. In recent years, the apparel industry has moved towards:
A. increased use of COLAs.
B. modular production. 
C. red circle wage rates.
D. wage re-opener provisions.
Ans: B
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[QUESTION]

36. Unions lead to low worker turnover because 

A. the government prevents firms from laying off workers who have acquired increased seniority.
B. firms can easily replace low skilled employees.
C. employees can voice their concerns instead of leaving the organization.
D. employees often leave to gain higher wages in nonunion firms.
Ans: C
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[QUESTION]

37. According to research conducted by Freeman and Medoff, turnover rates at unionized work settings are much lower than turnover rates at non-union workplaces because unionized employees: 
A. Usually receive higher wages than non-unionized employees doing comparable work.
B. Receive extensive fringe benefits that are not offered at non-unionized work places.
C. Actively participate in union activities, including elections and bargaining sessions.
D. Have a voice mechanism through which they can influence workplace decisions and settle disputes.
Ans: D
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[QUESTION]

38. Many historians argue that one of the prime achievements accomplished by unions is
A. the establishment of right to work laws.
B. the development of quality of work life programs.
C. the establishment of the grievance procedures.
D. all of the above.
Ans: C
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[QUESTION]

39. What are some of the arguments that unions offer in support of seniority?
A. It prevents discrimination by employers.
B. Because of workers' accrual of property rights.
C. Many workers find seniority to be a legitimate allocation rule.
D. All of the above.
Ans: D
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[QUESTION]

40. What is a disadvantage of seniority provisions?
A. Experienced workers often leave because of the strict seniority requirements in collective contracts.
B. They help cause employment insecurity for older workers who may realize that they will face retirement and thus may be laid off.
C. They may allow below average performers to be promoted.
D. They can increase the career advancement of younger employees who may possess high abilities.
Ans: C
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[QUESTION]

41. The main reason why employers frequently oppose demands for job and income security provisions is because
A. they increase the amount of managerial discretion which is inefficient for large firms.
B. they increase labor costs.
C. they increase federal taxes for the employer.
D. none of the above.
Ans: B
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[QUESTION]
42. What work rule provisions are geared toward preserving jobs?
A. reducing management's right to increase the pace of work.
B. increasing supervisor's rights to perform bargaining unit work.
C. eliminating sub contracting.
D. transferring employees to fill vacancies.
E. a, c, and d.
Ans: E
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[QUESTION]

43. Which of the following is true about supplemental unemployment\ benefits programs?
A. The government was the first to mandate such programs.
B. Unions have always had major supplemental unemployment benefit plans even prior to World War II.
C. The United Auto Workers was the first to establish such a program.
D. They came about because of the Great Depression in 1929.
Ans: C
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[QUESTION]

44. What has been the trend in employment security programs during the1980's and 1990s?
A. They have rarely been successful.
B. Workers sought more of these programs due to increased firm specific training programs.
C. Nearly all employers have prevented the use of these programs because of the high labor costs involved.
D. They have been declared unconstitutional by the Supreme Court.
E. a, c, and d.
Ans: B
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[QUESTION]

45. Which company guarantees employment security to 80% of their labor force?
A. General Motors.
B. Caterpillar.
C. Saturn.
D. Xerox.
Ans: C
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[QUESTION]

46. Management rights clauses are based on the belief that
A. unions and employers will be able to work together more harmoniously.
B. unions can perform the same duties and, therefore, deserve the same rights as management.
C. management must limit the influence of unions so that it can run its own business.
D. employers can sue unions for wrongful actions.
Ans: C
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[QUESTION]

47. Which as NOT been a push by management since the early 1980s in order to increase flexibility in human resource management?
A. broader job classifications.
B. greater managerial discretion in allocating overtime.
C. more conservative subcontracting rights.
D. more liberal restrictions on voluntary transfers.
Ans: C
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[QUESTION]

48. Which of the following is true concerning the economic and industrial relations performance of union firms?

A. The plants of these firms have similar grievance, discipline, and absenteeism rates.

B. Firms with favorable industrial relations tend to have poor economic performance.

C. There is often wide diversity in the economic and industrial relations performance of plants in union firms.

D. Productivity has been low for all these firms because of high labor costs.
Ans: C
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[QUESTION]

49. Unions have improved safety and health conditions by
A. preventing the formation of joint committees with management. 

B. negotiating safety provisions into bargaining contracts.
C. supporting government regulations that mandate safe practices.
D. b and c.
E. all of the above.
Ans: D
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 [QUESTION]

50. A study on health and safety in the 1990s found that increased probability of accidents occurred in the workplace when:
A. OSHA rules and regulations were not enforced.
B. when less trained contracted workers were used.
C. alcohol was consumed during lunch hours.
D. when worker compensation levels were lowered.
Ans: B
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Short Questions and Answer Key

[QUESTION]
51. Why might the measured relative wage effect of unionism not provide a good approximation of the true absolute wage effect of unionism?

Ans:

The relative wage effect measures the union wage divided by the non-union wage while the absolute effect measures the union wage divided by the no union wage (what the wage would be if there were no unions in the economy).  The non-union wage may not be equal to the no union wage due to the combined effects of the supply effect (the shift of unemployed workers into the non-union sector) and threat effect (firms’ decision to raise wages in order to avoid unionism).
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